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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)

SOCIAL SCIENCE
A a1t '
A e 63 # e 16
Total No. of Questions: 63 Totga Nosﬁ?lrl?ﬁted Pages: 16
TR 2 %2 45 frre) (gl 80)
g_:ma: 2 Hrs. 45 Minutes) [Full Marks: 80|
R # R Pl o
Instructions for the candidales:

1wl aen e s met & ) oew @
Candidates are tequited to give their answers in their own words as far as prachicabie
2 Sl Sk e @RI gy aEm puls Bide wvd &)
Figures 1 the nght hand margin indicaie hufi marks
3 Tew T wEn gOHTR JUTnt seq- W 1 @ T
Whiie answerng the questions, candidate showid adnere 10 the word bmit as lar as prachcadlo.
& N UT B ruengde 1) B LRy 1h ac F 3R awm B oy B
15 Minutes of extra ine has been aloftod tu! the candoates 1o read the questons carehlly
S WMwT-saT @ NE aua- i w4
This quesnhon paper is oivded into two sections - - A and Seclion - B
6 QUE. N D40 e gey & onlt Ty S ad @) (TRiE @ A30 1 NE Puida 8) g
Srre gTar avrd o) oMR - e & AR ) oft #m & e S o g 3 5 ) R
R g B FmgeAe/ ave Wrly 3/ g safe w1 gaw er ¥ gakr wew v @

e T afdemrs I @
in Section - A_there are 40 objective lype questions wiach are compuisory. each carryng 1 mark.
Darken the circle with blue/biack ball pen anans! ihe comrect apbon on OMA Shev! provided (o you.
Do not use Whitener/Liquid/Blade/Nall on OMR Paper, otherwise the result will be invalid.
7. W — ¥ & vtm B @ e g7 5 [ @ 19 oy owdr g 21 (w8
fory 2 s e &)
eI 3 T 5 7T (0110 0.5) & Fre? & R 3 et ar Gore &4
TTHY 1Y F FTT 3 W (0.710 0.9) 2 red & R 2 et #1 3ane 3
JRfTTER % &l 3 W (@11 10 Q.13) & S 3 R 2 vk wr Garv 74
sk & & 5 WP (Q.1510 Q.19) & v vt R 3 et w1 Iar &)
ST GRET 4 5 3 W (0.21 to Q.23) B v & ) 2 wedt 71 Gark 3t

z7@ et g7 o i 4 i aea 47 (06, 0.10, Q.14 and Q.20) 137 T B (IRIF &
[T ¢ aw Pl &Y w@e e & By Re (R @ 7)) § v i ma 2 o @

DA AP A
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In Section - B. Ihers are 19 short answer type questions of § subjects under Soclsl Sclence
{each carryng 2 marks) as balow

History has § questions (0.1 to 0.5). oul of winch any 3 questions lo be answeréed

Political Scence has 3 quesiions (Q.7 10 0.9). out of wiwch any 2 Questions 10 be answered.
Econamics has 3 questions (Q.11 ta 0.13), o of which any 2 queslions to be answered.
Geography has S questions (.15 lo 0.19). cil of winch any 3 questions o be answered.

Disaster Maragement has 3 questions (Q.21 lo Q.23). ouf of which any 2 questions to be
answered

Apart from ths, there are 4 Long Answer Type Questions (0.6, .10, Q.14 and 0.20). Each
Cacryng 4 marks. Each question has an alternate oplion

3 ware & gawEiiae ausver w1 wilt gokin afdta 2)

Use of any electronic appiiances is stnctly prohibited.

/ SECTION - A
Twgfs ww / Objective Type Questions)

e, spiva, worfRy R, anfera C@ AT9ET Ra
History, Geography, Politlcal Science, Econmmies and Disaster Management

Prenfba wgfreeda gt 3 @ Aww N (40%1=40)
Select the correct alternative ont of following multiple choiee guestions.

o

Wie faermes ) oY e 3w & a9 g

(AY &8 37 =30 {B) ®u a3k yin

() &7 M g (I w ahe wihf

Between which countries, the treaty of Brest Litovsk took place?

(A) Russiaand haly (B} Russia amd France

(C} Russia and England (D) Russin and Germany

At 1046 A w o Ao @ &a 23 aren woshar 250 s F waen e 27
(A) e B) $=

(C) &-H Frg (Dy T @ g A

By which name the treaty between Frilm."c and Vicinam in March 1946 is known?
(A} Tientsin () Cunton

(C) Ho-Chi-Minh (19} Neone of these
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3. Tﬁwmn#&ﬂmmmm*mmmamﬁgw?

(A) 1929 arete
(C) 1931, wu1t

(B) 1933, &=Fm
(D) 1824 Y

In which annual session of congress, the proposal for demand of complete

independence was passed?
(A) 1929, Lahore (R)y 1933, Kolkata
(C) 1931, Karachi (D) 1924, Belgaum
4 TR o wda N e B ST frw e s @ den & nd?
(A) airerd (B) s@wIm
C) u= () T=mEm
Dunng which “Peasint Movement” the tille of "Sardar™ was given to Vallabh Bhai
Patel?
(A) Bardoli (B) Abhmedabad
(C} Kheda (D) Champasan
5. WA & A ueen $3A vae Fa g g:?
«(A) 1838 (B) 18s8
(C) 1881 D) 1914

When was the first “Fuactory Act” passed in India?

(A) 1838 (B) IRSY
(C) 1881} (91
6. gl @i & nia fa ot @ vimn gan?
(A) #fF (B) am af
(C) v ot ) & T
Which class of society was exploited by the capitalist class?
(A) Labour class (By Middle class
(C)  Peasant class (D) All classes
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Wﬁﬂﬁwémwgmﬁmmﬁmwﬂﬁﬁ“ﬂw

(A) afiRgs aim (B) teifne R
(C) wremam i (D) s WA
b |
In modern era, which was the biggest revolution in the ficld “f ceonomy:
(A) Commercial Revolution (B) Industrial Revolution
(C) Communist Revolution (D) Geographical Discovenics
8. PR @ e fre o A e’
_(A) 1990 @ Tvm 3 (B) 1960 @ TI A
(C) 1970 & Torp & (D) 1980 & <WE ¥
In which decade, globalisation was initiated?
(A) Decade of 1990 (B) Decade of 1960
(C) Decade of 1970 (D) Decade of 1980
9. AT A whrem a gwe # vud @7
(A} Haa (B) M
(C) = (D) wEfad
Which book was first printed by Gutenberg?
(A) The Quran (B) The Geeta
(C) The Hadis (D) The Bible
10. a7 & wdwm 2o A oo w6t g4
(A) W@ (B) o
JC) & (D) amfdes
Where was the very first printing started in the world?
(A) India (B) Jupan
(C) China (D} Amcrica
1. %33 & goem sfva & afde 3 aren s ala W @2
(A) ¥ B gfa
(C) i (D) TReAw
Which of the following chemicals is respomsible for damaging of breading process in
Frogs?
(A) Benzene (B) Urca
(C) Andrin (D) Phosphorus
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(A) o@rngs
(C) andfyp

s s N s o A ddem agr 20
(B) wERIgy
(D) &@

Concentrati
ation of which of the following element has increased in water becausc of
excessive exploitation of underground water in Bihar.

(A) Fluoride (B) Chloride
(C)  Anvenic (D) fron

13. R & s 21 o W 2
SA) =1 SRt gen TEREF T 3w @
(B) =7 TiReor 9
(C) UH-FERF T A
(D) wls wwrat wvem @
Article 21 of the Indian Constitution relates 1o which of the following?

(A) Conservation of wild life and natural resources.
(B) Conservation of soil.

(C) Conservation of water resources

(D) Conservation of mineral resourcey

14. fER & e wle 0SS &3 8 on o dara 27

(A} 15 (B) 20
(C) 10 (D) 7
What percent ol geographical area in Bihar is under forest cover?
(A) 15 (By 20
(C) 10 {0y 7
15. teyfafms T & fay R afFa ) wemesn o @
(A) FAa (B) A
el (D) e
Which of the following minerals are used to manufacture aluminium?
(A) Mangancse (B) Tin
(C) Iron (D)} Bauxite
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16, w2 3 far wrva 3 e ot @ R A WG w8

(A) 3 (B) y&umEA w&A
AC) IRam (D) e
Which of the Indian state has maximum possibilitics for the development of Solur
Energy?
(A) Assam (B) Arunachal Pradesh
(C) Rajasthan (D) Mcghalaya
17. Fraffam 8 @ ot oR fad = o
(A} R gatn (B) T ST
{C) Raetren vy (D) e IEw IWT
Which one of the following is a small scale industry?
(A) Sugar industry (By Paper industry
(©) Toy ndustry (D) Electric equipments industry
18. 37 3 had Qg afifs & fasfia &7 BiharPaper.com
(A) 10 A(B) 7
€y 5 (D) 5
How many Special Economic Zones (SEZ) arc there in the country?
(A) 10 (L
() 15 (D) 5
19, fRme & ¥ 3 9 @) gd g o 27
(A) 6283 {58 (B) 5283 Sp &
(C) 7283 (%R (D) 8500 5 A
What is the total length of railway lines in Bihar?
(A} 6283km ‘B) 5283km
(C) 7283km Dy 8500km
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20. T-f A FEmn ¥ P wm fd ) o S 3w @@ T E
(C) W= (D) fmorEda =

The meusurement of the height of 2 panticular place with the help of bench mark, 15
known as -

(A) Spﬁl heighl

(By Special height
{C) Contour line

(D) Trigonomelric stalion
Wq ' e Bam A Qi =Y ¢ a) g afwr @@ @
(A ¥R gEm # &t O Emw
(B) &= gW1 fvan afik om A & od awemm gfAEd
(C) awE v Tl ) aEn W WU,

21

(D) [NEAIE FINNG A LA ) g T AER A B

What do vou mean by sexual division?

(A) Biological difference between male and female,

(B) The uncyual roles given to male and femule by the soctety.

(C) Ratio of male und female child,

(D) Female deprived of voting rights in democratic systems.,
22, wredty TERm & a3 ® g | A4 N Fuw FE R -

(A) = A @ WEMR U WEWTE AT G 2

(B) TE Ua vd w1 Ao usd s B

(C) el s A o W # el W |

(D) =AW & T T FIFR & 74|

Which of the following i true according to Indian Constitution?

(A) Tt prohibits discrimination on the basis of religion.

(B) Tt makes one rehigion as state religion.

(C) People are not free 10 accept any religion.

(D) Lack of voting right 10 women.
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2. W ¥ A v 2 oy
(A T [Angy 30 s 4 e &R B
(B) v &) vFm = Fuwn a B
(€) +7Q A & 20 Twah &y
(D) RF= g & g zwva 79 wf 2
Sharing of power is right because -
{A) ltcontains the diversity in itsell.
(B) It weakens the unity of country.
(C) It delays the process of decision tking.
(D) 1t minimises the confrontation among different communities.
24. T 1975 MM wiERRy § Pha RIg ar T E?
(A} 39 a4 3y g g7 o)
(B) Al R 458 gurrrs ot 4N
(C1 2 3] MURIETA 0T T o
(D) ot OISt 3 wrERr & A
Why the year 1975 is well known in Indian politics?
(A) General elections were held that year.
(B) Sm. Indira Gandhi became Prime Minister,
(C) Emergency was declured in the country.
(D) The Guvernment was formed by Janita Party.
2s  faew ¥ vy anfa 1 e Frlaf & / A fome?

(A) AR Eag (B) o TR

ey g A (D) TORSTT ARTI™N
Who lead the Sampoorna Kranti in Bihar?

(A) Morarji Desai (B) Nitish Kumar

(C) Indira Gandhi (D) Jayprakash Narayan
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26. TG oA gl By ey @ wafa 27

(A RER, omude wamdy «(B) ATy ¥, Fated
(C) U &M, WU, e (D) R, FERTE, WA

To which states is “Namada Valiey Project™ related?
(A} Bihar, Uttar Pradesh, Madhva Pradesh.
(B) Tamilnadu, Keralu, Knrm“i;kﬂ_
(C) West Bengal. Uttar Pradesh, Punjub.
(D) Gujarat, Maharashtra, Madhya Pradesh
27, f=fafEa 4 A @ ETT s omen o 22

(A) TR (B =T fersT

(Cy wlduA (D) TftE ¢

Which one of these is supposed as “Life of democracy™?

(A} Government (B) Judiciry

(Cr Constitution (D) Political Party
28, qE-dadd TFE FETiag 1 /R T an ao @2

tA) WU iR B @ (R} T W

(Cy) STy w D) AW

Anti defection law is applicable on - BiharPaper.com

(A) MPand MLA (B) President

€y Viee President (1)) All of these
29, T Gl (g TE ok mEa T g

(A) 1992 (B) 1390

(Cy 2003 (D) 2004

When was the Janta da) (United) constituted?

(A 12 By v

(Cy 2003 (D 2004
30, fua R @ M g o & wfe a3 F aiilaa 87

(A) o érd (By #T dra

(C) s e (D) &2 3§ 4D

Which one of the following is included in the primary sector of the economy?

(A) Service sector (B) Agriculture sectar

(C) Industrial sector (D} None of these
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. m*“*”rﬁ‘immmmmantﬂﬂm*‘

(A) ¥f¥Efhg (B) £ oagil
©) 2 Rwfe @) F A @
The country whose per capita income is high. is called -
(A) Undeveloped (B) Devcloped
(C) Semi- developed (D) None of these
32. MR 3 fra R o ofy aifde wm @iRs &
(A) e (B) Tm
(C) FPrage (D) =T
Which district of Bihar has highest pef capita income?
(A) Patna (B) Gaya
(C) Sheohar (D) Nalanda
33. a1 &Ny T ow T &7
(A) Rad 8 oifs gfEa (B) w®e &% aife FBU
(C) oda gl & (D) domg AWTd &b
Which is the Central Bank of India?
(A) Reserve Baok of India (B) State Bank of India
(C) Regional Rural Bank (D) Punjab Nationul Bank
34. mmnile 3N @) wdvem wFgewn &4 frm oam?
(A) 1968 (B) 1980
{C) 1969 (D) 1975
When commercial banks were first nationalised?
(A) 1966 {B) 19380
(C) 1969 (D) 1975

35. ¥ D A W T &7

(A) T (B) &Y ¥yum
(C) R (D) g7 & ah
What are the main sources of energy? *

(A) Coal (B) Petroleum
(C) Electricity (D) Al of these

[2”] - | Page 10 of 16



6, 9 A Mg W T’ Y

A) TE urea
:C ‘ b 1By &=au
MNET-Ta
) T ot (D) a7 91 ol

Which'nf these is a multinationg company?
(A) Ford Motors tBl' Samsung

| () Coc;hCola (D) All of these
37. Swhan dRBR fRaa T wmr g 22
(A) 17 W] (By 15 =rdl
1) 19 ada (D) 22 andet
When is Comsumer Rights Day celebraed?
(A) 17 March (B) 15 March
(C) 19 Apnl (D) 22 April

38, uf R A% o AT B 4 20 o A D6 e 1 gV w & i IO FE
fhergs v asar &7

(A) Rrar wrm (B) <oy T
(C) s st D) B wd)

What is the forum of complain for consumers if the price of any commodity or service
ts more than 20lakhs and below 1Crore?

(A) District forum {R) State commission
(C) National commission (D) Nonc of these
39. T a1 W@ IRV 4 87 |
(A) T[T A F BT AT (B) &0 R b w KR

(C) woicfra e g @y @ H (M T | A

What is the main cause of Tsunami?

(A) Earth quake in sea ¢B8) Earthquake on Ixfund
(C) FEurthguake on land arcas (D1 None ol these
40, yaem de & TARUT Gedd U N T2 4T T FE S ¥
. (A) [FW T (B)y  flrdng
. (¢ T (D) T F I A
The point on earth vertically above the Earthquake centre is called -
(A) Earth quake Centrc (B) Epi- Centre

(C) Centre (D) None of these
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@vg -1 / SECTION=-B

g / HISTORY
Fdr- f S
YT URT 1 A 5w qy owde gw &y @ R ot
2/ ™ (g I )
Instruction:-
- . s 3x2=6)
Question no. 110 5 is short answer type. Answer any 3 quesiioRs. (Toial marks )
I swedm =i w4 amlea an, B
Non - cooperation movement was a public movement. how? @)
2. I g he-Teh % slaldaRe @ TR nery @, AR
How coul and fron industries iriggered industrialisation?
3 eR A ¥ 4§ wrash B g 2E? @

What new problems were emerged by towny?
4. Jrbhe w4 fra me Ru-aer # =en # A e
How industrial revolution expanded the nature of world market?
5. IeAet § qEoas | R #F R
How Gutenberg developed the printing machine”
frer—

wr7 wem 6 i g7 av7 & Wt awd & g vw Re R B) (3T T 4x1=4)

Question no. 6 is Long answer question which is compulsory, it has an alternative

question. (Total marks 4x1=4)
6.  HRATR WA I FH A W B dngE N e F51 (a)
Discuss the contribution of Gandhiji towards Indian National movement.
JYq_/OR

1920 & ifils wwe @ o vd ool 91 e w5y

Describe the causes and consequences of econvmic crisis of 1929
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Ay —

mm?#gmﬁymm

gt O D e oTR & (g W 2@=4)
Instruction:-

Question no. 744 9 ;4 short answe,

i¥pe. Answer any 2 questions. (Total marks 2x2=4)

T 8 @ g 5 a7 @ e g AP 2w g 27 @)
State any two Provisions which make India a secular country.

8. W R MR W wrwn-san i am & @)
What are the differen types of sharing of power

9. R shi W b B A 22 e oy @)
Lack of education is u challenge 1o democracy? Explain,

Ay

| e 10 G wota e & bl & gl 1 R R &) (g S ex1=4)
Question no. 10 is Long answer type which is compulsory, | alternative is also
given to the guestion, (Total marks 4xi=4)

10, wia @@ o wfm ouife TE A wam @) gEm e € o sad wmER e
4 @)
Who provides recognition to national and state level political parties and what are the
criterions for it?

Jyar_/OR

wrmnfaa Y 4fm i ® pid 2 A% BrE @ e o @
How the role of judiciary is a challenge to democracy? What are the measures for its
improvement?

[211] Page 13 o1 16
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GO e

ECONOMICS
-

T¥7 ST 11 @ 13 T Ty g7 7T &1 s @ B o @ o T o AE 20=4)
Instructiog:.

Question no, 11 10 13 is short answer fype, Answer any 2 questions. (Total marks 2x2=4)

1. afie s q 87 win & areayr w1 ' @
What is cconomi Manning? Discuss in bricf?

12. Bz ard 3 & (@)
What is Credit Curd?

13, e @ o oy a8 @)

What do you understand by Globalisation?

Rder—
w7 W 14 5w & oy gvm & ot sPd & gad 1 REw o 21

Question mo. 4 is Long answer question which is compulsory, 1 alternative is also
given to the question,

14, M — yezard wend tdm wBR Ao &3 B e & aram s & g2 @& ay
i) ()

Explain with example, bow non- governmen organisation (NGO) contributes towards

the development of service sector”?
Je@ _/OR

"Il TR AR 1006 ) g Rdwma @1 avia a,
Describe the main features of “Consumer Protection Act 1986
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L U

ey GEOGRAPHY
WY SN 15 W 19 0% Ay gmbz grw & gvd @ Y 3 @ gov AW S
&/ (g 37 225
Instruction:.
Question no. 15 10 19 is short answer type. Answer any 3 questions. (Total marks 3x2=6)
13. @@ & B wpif § 48 3= w B g 27 @)
In which part of Indwa, River delta huve been found?
16 Rrvah sigiearn @ avie et @
What is “Chipko Movement™ xplain.
17. & 3 a=em o 1w @ 3 o B 114 @
What do you mean by conservation and management of minerals?
18, WR-awt 91 s #4 g &2 @
How solar energy is produced?
19. R 4 Wyl & wR2fhe Nam = ooy wea SR @

Discuss the regional distribution of roads in India.

Ad-

v tremy 20 T Fa gy B ont sfard & el v REq ot &1 (g7 IF 4x1=4)

Instruction:-

20.

Question no, 20 is long answer type which is compulisory, 1 alternative is also given
to the question, {Total marks 4x1=4)
e J A FH DA IuT (e (4)

Discuss the Information and Technology indusiry in India?
A OR
e TEn am #? A g e R & o = owedq R o R o @
fF=& dia &1 " i FY
What are contour lines? How the slopes are demonstrated with the help of contour

lines. Draw any five types.
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DISASTER MANAGEMENT
A

T TN 21} 23 v g owha wvr 8 gt B Pl 2 7 T 0 AT
& e ohid 2x2=4)
hlsl’rm‘n'tm:-

Question ne, 2440 23 is short answer type, Answer an y 2 questions. . (Total marks 2>2=4)

THIS & 4T & ufm) 7 T | @

Discus the measures 1o prevent drought.

2. TR I acd @ ooy a5 N1 aura T {2)
Explain any three measures to minimize the devasiation caused by Teunanu.
3. MPREE SN ueE 3 et gE 4 SBT3 @

Discuss the role of Local administration in the nmamgement of sudden disaster.

e . |
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